
D
ok

um
en

t-N
r.:

K
B

-4
59

A
us

ga
be

:2
02

01
02

8

Assembly instructions
Istruzioni di montaggio

D Montageanleitung
Notice de montage
Handleiding voor de montage

Szerelési utmutato

FR

NL

CZ

HU

TR

GB

IT

PL

SK

RO

RU



KB-459

Mayrapb

100X200CM 140X200CM
160X200CM 180X200CM

2665 6834   8999 3744   4679 5008 
3103 7244   8310 9650   4727 3004
2393 6966   8593 2852   5766 9966 
6548 3456   2087 5010   7158 0406
3468 5654   7856 4052   2441 5206 
9210 7638

1  1x

2
  1x

4  1x



-3-

A
4x

M8x25

M5x40x100I
  1x

M5x40x100I
  1x

M8x19C
2x

K
2x

M8x50

1

1

2

3

1

2



A
12x

M8x25

M8x19C
12x

M8x13D
12x

84x47x47F
 2x

M5x40x100I
  1x

H

A
12x

M8x25

M8x19C
12x

M8x13D
12x

M5x40x100I
  1x

1

3

1

2

3

4

 -4-



M8x25A
 8x

M8x19C
12X

M8x13D
 8x

M5x40x100I
  1x

M8x13E
 4x

85x26J
  1x

M8x13E
  4x

92x41x210G
 2x

85x26J
  1x

B
 4x

M8x35

M8x19C
   4x

M8x13D
  4x

M5x40x100I
  1x

 -5-

6

1



B
4x

M8x35

M8x19
   4x

M8x13
  4x

M5x40x100
  1x

C

D

I

 -6-


